D1vISION WITH A REMAINDER II (H - SET 2)
DIVISION WITH A REMAINDER

Name:

Time:

Score:

1) 14896 =+ 5 =

602)  —23566 + 3 =

603) 36070 + 8 =

609 —5Hd618 =6 =

605 11680 + 5 =

606) —T7111 + (—6) =
60 —10425 + (=2) =
603) 42132 +6 =

609 —15437 =+ (=9) =
610) 38985 + (—8) =
) —16495 + 7 =

62 7032+ 7 =

613 —36134 =6 =

o =507 = (—1) =

o5 9750 = (—1) =

Mathematics: Division - Level 8 - Horizontal - Set 2
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22

51037 = (—7)

—46451 + 8 =

—34934 = (=5) =

—20833 + (—6) =

—6725 + 3 =
5855 + 1 =
28681 = (—8)

8324 = (—5)

—10938 + (—2) =

16932 = (—9)
—15321 +4 =
—8758 =+ (—1)
19158 + (—2)
—32165 + 5 =

—40240 + 8 =
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